Telangana State Council Higher Education

Question Paper Name: Physical Sciences
Subject Name: Physical Sciences
Creation Date: 2019-05-31 13:14:08
Duration: 120

Total Marks: 150

Display Marks: No

Share Answer Key With Delivery Yes

Engine:

Actual Answer Key: Yes

Fhysical Scierces

Group Number : 1

Group Id : 23074913
Group Maximum Duration : 0

Group Minimum Duration : 120
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0

Group Marks: 150

eneral English

Section Id : 23074962
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 21
Number of Questionsto be attempted: 21
Section Marks: 25
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 23074974
Question Shuffling Allowed : Yes

Question Id : 2307491813 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (1to5)



PART-A
GENERAL ENGLISH (Marks: 25)

Read the passage carefully and mark the correct answer for the questions that follow:

In order to change and deal with emotions it 1s crucial to analyse which
thoughts are useful. constructive and of benefit to us. This analysis is sumilar to one
which we might use for external things. such as plants. Some plants. flowers and
fruits are good for us. so we use them and grow them. Those plants which are

poisonous or harmful to us. we learn to recognize and even sometimes destroy.

There 1s a sinularity with the mner world. It 1s wise to take a close look into
the world of vour mind and to make the distinction between beneficial and harmful
states of mind. Omnce you can recognize the value of good states of mind. you can
increase or foster them.

Sub questions

Question Number : 1 Question Id : 2307491814 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
By analysing thoughts we can
Options:

, order a change

5 deal with emotions

. make others useful

, benefit everyone

Question Number : 2 Question Id : 2307491815 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0



Analyzing thoughts 1s compared to studying

Options:
. flowers

5 fruat

. animals

i plants

Question Number : 3 Question Id : 2307491816 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

What do we do to harmful plants?
Options:
recognize and grow them

, Use and destroy them

recognize and destroy them
3.

grow and destroy them
4

Question Number : 4 Question Id : 2307491817 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: O

Why should we take a close look mto the world of the mind?
Options:
, fo know the difference between harmful and beneficial thoughts

, to compare if to plants

] to be constructive



, fo grow anew world

Question Number : 5 Question Id : 2307491818 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

What function do the words ‘analyse’ and ‘analysis’ in the passage perform?

Options:

, Verb, Noun
. Adjective. Verb

! Noun. Adverb

. Verb. Adverb

Sub-Section Number: 2
Sub-Section 1d: 23074975
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 2307491819 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Identify which part of the sentence 1s grammatically icorrect

Options:
; The child does not

X resemble to

. any member

. of the fanuily

Question Number : 7 Question Id : 2307491820 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Choose the grammatically incorrect sentence

Options:



. When will the bus come?

, When 1s the bus gomg to come?
. When do you expect the bus to come?

i When the bus will come?

Question Number : 8 Question Id : 2307491821 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Complete the sentence using suitable articles:
There 1s park on road next to my house

Options:
, the, the

a. a
-/ the

. the. a

Question Number : 9 Question Id : 2307491822 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Choose the sentence which has correct article use

Options:

, Houses made of wood are suitable for this place

The houses made of the wood are suitable for the place
2

. Houses made of a wood are suitable for a place

, A house made of the wood 1s suitable for this place

Question Number : 10 Question Id : 2307491823 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0
Complete the following using suitable prepositions

The meeting 1s 5 pm the hall YOUur room.

Options:

~at, at, by

1

, at, 1, beside

. by, 1n, besides

; 1. near. m

Question Number : 11 Question Id : 2307491824 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Choose the sentence which has mcorrect use of prepositions

Options:

1 The guest should reach the place of the programme in tune for the first session.

The new tenants have moved into the small flat at the top of the house.
5

] There 1s a computer on the table m the front room of the office.

, Travellers are allowed as far upto the edge of the forest n.

Question Number : 12 Question Id : 2307491825 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Complete the sentence using suitable auxiliary verbs

You share your experiences with others so that they learn from them.

Options:

1 call. 1may

, will, ought



- need, used

, might. should

Question Number : 13 Question Id : 2307491826 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Replace the underlined with the correct tense form
You studied hard so that you got better marks

Options:

, had got
, will get
: could get

are getting
4

Question Number : 14 Question Id : 2307491827 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Pick out the misspelt word

Options:

Compassion
1

s Accommodation

. Stopped

Comming
4

Question Number : 15 Question Id : 2307491828 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Choose the correct spelling



Options:
; ettiquete

5 etiquette
- etiquite

; etiquete

Question Number : 16 Question Id : 2307491829 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which prefix cannot be used for “ABLE”
Options:

EN

1.

> UN
DIS

NON

4.

Question Number : 17 Question Id : 2307491830 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which suffix should be added to ‘national’ to make 1t a verb

Options:



Question Number : 18 Question Id : 2307491831 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Use ONE word to replace the underlined
Delhi 1s known far and wide for 1ts historical buildings.

Options:

. famous

, reputation
; notorious

. obscure

Question Number : 19 Question Id : 2307491832 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Choose the word which 1s NOT a synonym of the underlined word
There was serious dissent among the committee members.

Options:

1 disagreement

, dispute
. pleasure

; conflict

Question Number : 20 Question Id : 2307491833 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Choose the pair which are not antonyms of each other
Options:
, accept —reject



) zenith — nadir
3 benevolent — malevolent

, hegate- veto

Question Number : 21 Question Id : 2307491834 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

Choose the word which 1s a homophone of “sweet”
Options:

] suite

5 sweat

= swat

suit
Ly

Question Number : 22 Question Id : 2307491835 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Choose the simple sentence form of the following

The shop 1s so far that we cannot walk to it.

Options:
. The shop 1s very far and we cannot walk fo 1t.

., Being very far the shop we cannot walk.

- The shop 1s too far for us to walk to.

, We cannot walk to the shop as it 1s too far.

Question Number : 23 Question Id : 2307491836 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



What type of sentence 1s the following
Although he tried, he could not complete the work on time.

Options:

. coordinate

i complex

5 simple

, compound

Question Number : 24 Question Id : 2307491837 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Change the following to Direct Speech
The speaker described. the current difficulties facing humanity.

Options:

1 The speaker said, “These are the difficulties facing humanity now.”

, The speaker described. “The current difficulties facing humanity.”

3 “The current difficulties facing humanity.” described the speaker.

“The speaker described. the current difficulties facing humanity now.
4

Question Number : 25 Question Id : 2307491838 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Change the following into Passive Voice
Someone must solve this mystery.

Options:

1 This mystery someone must solve.

, This mystery must solve someone.



. Someone be solved this mystery must.

This mystery must be solved.
4 :

General Kncwledge

Section Id : 23074963
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 15
Number of Questionsto be attempted: 15
Section Marks: 15
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 23074976
Question Shuffling Allowed : Yes

Question Number : 26 Question Id : 2307491839 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Who is the Chairman of 15% Finance Comunission ?
15 & 805 2050 580 DDBOT

Options:

C.Rangarajan
. Dot TS

Duvvurt Subba Rao
02O DOERTRR)
Z)

C.S Rao

.00 ToR)
)

N.K. Singh
. N.K 208



Question Number : 27 Question Id : 2307491840 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Martyrs Day ( Shaheed Divas ) 1s observed every year on
gRLSB BI0H? eBHHe BHomR MeBoscs ey ( Martyrs Day Soe 5806 £59)

Options:

15 April
S1E 1 530

1¥* May
5 ao 1 DSO

30" January
BHDO 30 D SO

June 20%®
apd 20 &5 30

Question Number : 28 Question Id : 2307491841 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Venue of world Government Sumnut ( WGS -2019) 1s
DHoT Pebeose Hvarad ( world Government Summuit (WGS -2019) S5

Options:

New Dellu
oo, B

Dubai

z_m

Paris
SPROR

London

j O0GHB®



Question Number : 29 Question Id : 2307491842 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The Indian Historian who won the Dan David Prize for the year 2019 1s
2019 HoHava) Dan David Prize £p00® gpiéas w08 setot

Options:

Sanjay Subramaniam
08D R0

Sumut Sarkar

s 0030 Eﬁt)aerﬁ

Irfan Habeeb
s |ROY® w0ded
M.G.S Narayanan

) M.G.S aeBas®

Question Number : 30 Question Id : 2307491843 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The winner of ©“ Academy of Canadian Cimmema and Television™ for 2019
2019 DOoBBTBD) Sdm@e HDD, BIDBO e (© Academy of Canadian

Cinema and Television ) DO, B0 SFPOBDD FROBAZ Swosetu (artist)

Options:
Meera Nair
SHooe deanb

Shyvam Benegal
FH0 B3OS

Deepa Mehtha

Ho Doieeso
3,



Manirathnam

, S0BBES0

Question Number : 31 Question Id : 2307491844 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which Union Mmistry is orgamizing the *“ FIRST EVER ANNUAL
CONFERENCE OF MEDIA UNITS” 1n India ?

gPLE BS0H% DoxSBROTR Hobsade asmedey SRS DD TR, ( First Ever Annual

Conterence of Media Units™) Sogéo 300w, 80088, (Ministry) mesp He?
Options:

Ministry of Information & Broadcasting
DaeeR, DD 0NB, TOIP

Ministry of Science and Technology
DD, MOBPB0NB, TP

Ministry of Human Resource Development
AJPAIR) DODO DOEE. TP

Ministry of Electronics
DO DF D0HE, Do

Question Number : 32 Question Id : 2307491845 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Task force setup under the convenorship of Akhilesh Ranjan related to
PSS DoaBd JHH0 &% DLHED b, G B8 Bod BOrPDB HOLSDODDHO.

Options:
Agriculture Sector
| BRea0 BotsHw

New Direct Tax Legislation

| 008D BB BRERHE

Space Sector

5 @Déﬂt‘ﬁ Do



Medical & Health Sector
DR, @ﬁ(‘% o0

4.

Question Number : 33 Question Id : 2307491846 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The 3 edition of *“ Swachh Shakti 2019 was held at which of the
following city
" 525 S8 20197 Hosetss Hak, BB BOND DD

Options:

Dehradun
1 &@'ﬁtﬁ}fﬁ

Lucknow
0}

2.

Gandhi Nagar
. R0 HH6

Kurukshethra
, woe

Question Number : 34 Question Id : 2307491847 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
A Persistent fall in the general price level of goods and services 1s knows as
S0 ( goods). e ( services) Hoen DBOBBHN i8R Sot3 e =5 LOD

H006I0 Y

Options:

Deflation

59 Gy PBgein
1.

Disintlation

L3558 TOBIEBE0

z.



Stagflation
. B6RAD

Depression
DB T0E0
g ¥

Question Number : 35 Question Id : 2307491848 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

India’s First Uranium Mine is located at which among the following places
EROS B8 BOQBNHE ASNBOAED 5D &, HEED0
Options:

Tummalapalle
B0, HS

Pichhi
¥Eve i)

Dalbhum
3. {33%5}

Jaduguda
4 ERLOTeGEe

Question Number : 36 Question Id : 2307491849 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which of the following State 1s the largest Bauxite producer?
D0 BF0S8 08 5 &0 @BHB0MR BB v Oo g 5500

Options:

Odisha
eolaap

1.

Jharkhand
zsbgc:&



Rajasthan

o3 o000
3. 3
Kammataka
50085
4, eo

Question Number : 37 Question Id : 2307491850 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Which of the following is the Poorest Conductor of Heat in comparison to
other options?
58 Bo® BE® HO wOdrd Pod &8y aeessn (Poorest Conductor of Heat) ?

Options:

Silver

1 S lele
Copper
o8

25
Lead

. o0
Mercury

. SJOEBRE0

Question Number : 38 Question Id : 2307491851 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Who among the following 1s writer of ©* Kalpasutra™?
“ Beioes” (50 BS00s
Options:
Simukha
, 5008

Panini

5 P



Patanjali
@ B0

Bhadrabahu

ES OB
4,

Question Number : 39 Question Id : 2307491852 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Which of the following 1s not a Petrochemical Centre of India?
S8 808 B8 HO EFBBIRASHH Borssn ( Petrochemical Centre )zees0 ?

Options:

Kovyali

825008
1

JTamnagar
. GInV I ete)

Mangalore
. 0OHEIBD

Rourkela

T

Question Number : 40 Question Id : 2307491853 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

What 1s the National Sport in Japan?
B8PS B39 eedao 8 ( National Sport) He?

Options:

Sumo Wrestling

BoRoe S8

1.



Hockey

, 58
Swimming
Baed
>,
Cricket
8365
4
Teaching Aptitude
Section Id : 23074964
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 10
Number of Questionsto be attempted: 10
Section Marks: 10
Display Number Pandl: Yes
Group All Questions: No
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Sub-Section 1d: 23074977
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 2307491854 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Essential quality of a teacher
€a0ER,C50DE°? B5)DOOM BOEED 50O

Options:
Should be neat and clean
, DO SgIOTP SO

Have patience
&850, B8O Gow@ed
5

Should be a learned person

&gﬁ&’)@é}@ BOGE08)
3.



Expert 1n subject
” DER0B0® DAPSBIGDH &ot0

Question Number : 42 Question Id : 2307491855 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Friend. Philosopher and Guide 1s suitable for a teacher who 1s
5 SR8, HEPBND B85 HOOIN BRI HOBIP

Options:
A great patriot

A& g58 e @atsd
1.

Great reformer of the society
AOSVBBORP @9B0S DODYHWO &oB00e e aRto

Transmits high value of humanity to student
DB DI DEVDEN BOLB T

Plays vital role 1n society
RD0B0HP HEPHOBDD o IO

Question Number : 43 Question Id : 2307491856 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
I choose teaching profession because
D0 BEPGRAD Y8 D OB DOTIBIOERHOES
—

Options:

There are more holidays for teachers
GBRERAZNOB) DB, H VDDV OEPO0

I can teach students casually as they do not dare question me
_ DoRe0naod oo Bast ol St dgoe SPosoto S



There 1s not much stress n teaching profession

, %00 B 6F 0By D Bl Lot

I have passion towards teaching
; PO B DY TOBO EDIEIO GO

Question Number : 44 Question Id : 2307491857 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

When some students do not understand a lesson
oo DERBRe0 R, B0 w0 SPBS D53

Options:

I call their parents and advise them to send their children to tuition
00 #8) HOEORH DOV 0O HYOO ETRNVOBY DODD AOEP RJVAD

I blame students for not paying attention while teaching
X PO, DERRED 5eRmed, SO SDOE0B DOORH

I do not bother and teach another lesson
530 DEoTOEIB0E BETD JooeR) 590

I explain the lesson once again
& Do TP, O DHOVD

Question Number : 45 Question Id : 2307491858 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

A plan of action prepared by a teacher for a particular class and period to
achieve the desired objectives

285 DS SOHS HoOAZD SHoahs 5 e80DD OFTROD0 QOTIB €651030,0500880
BASIND wRD rﬁ%@eﬁ PSa0

Options:



Lesson Plan
Dot DB

Unit Plan
D08 BDPSa0

Teaching Plan
£59¢5a00 BPB0

Project Plan
D50 DPHON

Question Number : 46 Question Id : 2307491859 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The Learning which occurs as a result of drawing inference in a class by the

student 1s
SOEHB HOSH8 DRBES HOBOTP DGRY BOD IO

Options:
Creating
| ool
Remembering
| @8 Bapeion
Applying
DODINHO0D
3
Analyzing
; D30T

Question Number : 47 Question Id : 2307491860 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



The most effective leaming 1s
DER D DFPODOBDOD FILODEN0

Options:
Rote Learning

E)l':g) @egtis‘nﬂn“‘")

1
Experiential learning

90855 HPTSE €8s
2.

Group discussion

S o e]
3
ICT enabled learning
ICT H5050 e85
4,

Question Number : 48 Question Id : 2307491861 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Teachers relationship with students should be
5}@5%)@85 BJIERANDE  BOGBHOVD HODOKHO

Options:

Empathetic
BEBE0ET0R

Friendly
REPOPGS

Sympathetic
I D AN



Punmitive
tﬁoiﬁméﬂé

Question Number : 49 Question Id : 2307491862 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Education can be better imparted at primary classes through
PHEVS SOEOES DEFO AVOTR O o6 BOOOTIHEY

Options:
English
e80{) §Pa

Hindi
2P0 g1Pa)

Mother Tongue

5 g )
Regional Language
OB gN

4.

Question Number : 50 Question Id : 2307491863 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Teacher’s Primary duty 1s
WPERAZ0D PG DY
Options:

Prepare students for exams
DGRLBH0 HOBOB DSy A0

Lay foundation to students to takeup a career
;s a@gﬁﬁg@a VTR J0L@OE JPaRe) JASEO



Maintain discipline m classroom
SOHD HOE® S0BGE DVFEP0TIEBO

i

Make learning meaningful
SELHDD0 OTDOBO SADEO

Fhysics

Section Id : 23074965
Section Number : 4
Section type: Online
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Number of Questions; 50
Number of Questionsto be attempted: 50
Section Marks: 50
Display Number Panel: Yes
Group All Questions: No
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Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 2307491864 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

If a Force (F) acts on a body. It displaces through a displacement (S).
When the Force (F) and displacement (S) are in the same direction.
The work done on the body 1s

2050 (F) 28 500 2 D0 DDHo0s, & 50D P gloo (S) RDotoso.
DO HOOASD %&5 godo 2.8 D5 &8 YD, & HD) P BOHD DO

Options:

2

3

FS
FS CosH

FS Sin6



Zero

i

D2

Question Number : 52 Question Id : 2307491865 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
A particle is moving with a velocity v = (3 + 6t + 9t°) cms/sec.
The acceleration of the particle at t = 3 sec 1s

2:8 Seasdoo 30 U = (3 + 6t + 9t) Do. & / D S5 HASRB0e.
t=3%. aﬁcg e5eaE00 CO00E, 406800
Options:
20 cms/sec?
20 0. & /2
1.

40 cms/sec?
_ 40 Ro. 8o /o

60 cms/sec’
60 2o. & /B

=

80 cms/sec’
30 0. & / B2

Question Number : 53 Question Id : 2307491866 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

The rest mass (1m,). total energy (E) and momentum (P) of a relativistic
particle are related as

FPDE, S0 ABNE, DoLEL BETS (11,) Bngso 48 (E) Sooasno
s@.800 (P) o2 5o dowogo

Options:



2= (po)Y-+ (i)

E =pc + m,c?
2.

= (po) e

E=/pc + mqyc?

4.

Question Number : 54 Question Id : 2307491867 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

According to Galilean Transformation

Galilean Bx»&posdsn DseESnTR
Options:

Change of velocity 1s independent of the reference frame.
550065 HREY OBF L0 D SREDEED.

Change of velocity 1s dependent on the reference frame.
Se5s068 By D3 WO D STRSDHED.

acceleration depends on the reference frame
B,0e2800 DBT O D BERSDLEIDO.

Velocity depends on the choice of the reference frame.
655500 DE 5O DS D SPSDHE?D.

Question Number : 55 Question Id : 2307491868 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
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Correct Marks: 1 Wrong Marks: O

The equation of motion of a damped linear harmonic oscillator 1s

CeBcso DO PoE,E GF0S @Bt (8S HESEGEH0

Options:



dx lde .k
sl — =
gt Tdi m

¥
g% _ ax 5
+7—+kmayx =0

dt’ dt

z.

d*x
F + lom Dy X = 0
1t

d’s 1dv_

—}—|— =)
dt tdt

Question Number : 56 Question Id : 2307491869 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0

Two straight and narrow parallel slits located 1mm apart (d) are
illumimated using a monochromatic light. A screen placed at a distance (D)

of 100cms 1s used to obtain fringes. The fringe width 1s p = 0.5mm.
the wavelength of light used 1s

&ogy, cso (d) lmm Go Sodd HEY OCSN DHRD HHROSS DO
50 B8 HE SoBSF HTB0D DB, HYS JeotitmOE 35> 100 0.8,

B55008° HoSsDD. HHS Ddey [ = 0.51m. SDHDRHoDD o
BBOH PG 80 DD
Options:

5x 102 cms
5x 107 2o.8o.

1.

5x10° cms
" 5x 107 2ol



5x 10 ¢ms
5x 101 20.60.

5x 10 cms
5x 10 20.8o.

Question Number : 57 Question Id : 2307491870 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
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Correct Marks: 1 WrongMarks: 0

Dispersive power of a grating 1s

BB08 DS, HFD S B0 S0oBO.

Options:

directly proportional to the grating element.

1 OB05 SH00reme08 @S HEmno MeBS0S®

inversely proportional to the grating element.
D805 SoreoeDE HSTHIH0 MBE0S®

Does not depend on the grating element.

OB08 SoReB0 D SEREDEL.
3 =

proportional to the square of the grating element.
OB08 Sones SROE ©HSERHy FPBHEDSS

4

Question Number : 58 Question Id : 2307491871 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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Correct Marks: 1 WrongMarks: 0

A quarter wave plate introduces a phase difference of radians
between the o-ray and e-ray.

'Cf)éQUgG-"Ef BS508 POS0o 0-88ms000 005N € -850 05, 3&:1’13{)%
BTROBO0 SHOTIORL.

Options:



|

L

Question Number : 59 Question Id : 2307491872 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
A step index fiber has a core of refractive index (p;) = 1.5 and cladding of
L = 1.47. The NA of the fiber 1s

8% S08508) CB0E, ©OSTRD) B5E5S5D oo (1) = 1.5 Soocsn Sllelo'g)
B0E, 585D so L = 1.47. BoBog) GBS, Hogns,S @H35

Options:

0.1
1.

L 02

0.

T

0.4

4.

Question Number : 60 Question Id : 2307491873 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

In an optical fiber of length (L), Attenuation (A) 1s
D) (L), 5o z20® Sosos) &° §3:

Options:

A= 10L log,, —&-
P

ajiig



A= —log,—=
10 "B,
2.
P
A= Eln_m =
L out
5
A=log, Pa
4 ont

Question Number : 61 Question Id : 2307491874 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
cD i
Vx H =J+— Indicates
ot
: cD
VxH=J+— &5DoT500
ct
Options:
Gauss Law

P HCSBOS0

Ampere’s Law
3006 DO

Faraday’s Law

FROG D00
3.

Lenz Law
Sod D0
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Correct Marks: 1 WrongMarks: 0



A charged particle has a mass (m) of 10x107'° kg and carries a charge (q) of
4.9 x 10'? C. The intensity of electric field on it is

28 @RBBSHH0 HHoes (m) 10x107° kg Swaso e8ko (q) 4.9 x 1077 C.
POD HO BEALE) BB H5S
Options:

2% 10° NC'

i

Bl NG

2

2% 107 NC?

Question Number : 63 Question Id : 2307491876 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

In a CE Transistor circuit the base current changes from 50pA to 150pA.
The corresponding change i the collector current 1s 0.2 mA to 4.2 mA.
The current gain 1s

CE epRQ:06 Soaios® 88 &50,8) Harsmod® H763 SOUA Ho® 150uA.
@000 SBE6 OGS Daraeod® dncy 0.2 mA o 4.2 mA
DS PHareeP S

Options:

40

1.

60

=

80

Fek

, 100

Question Number : 64 Question Id : 2307491877 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0

The expectation value of a physical quantity in Quantum Mechanics 1s

2,0 H0 ABROBE PP 0SS, PHE0TB ©oBTe DD

Options:

The definite value of the physical quantity.

) ePHBETB mg@ DD

The value of the physical quantity.

, eRHE0S DD

The most probabilistic value of the physical quantity.
gPBECOE VWG, BB08 VOgPHE HOOD

None of the above
20 OB 52

Question Number : 65 Question Id : 2307491878 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
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Correct Marks: 1 WrongMarks: 0

N
va The symbol 1s
.
o
% B8 HOBBED
=,
Options:

NAND gate
NAND @&

1.

NOR gate
, NOR [355)

XOR gate
. XOR [355]



XNOR gate
; XNOR &5

Question Number : 66 Question Id : 2307491879 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Radiation pyrometers are used to measure temperatures.
eGS0 S0HtRDE HESE :-365 ﬁ:ré.:)iﬁr%n")a BDDROHRE

Options:
very high
03,08
1.
low
BB D
z.
very low
EOOBER
=,

all of the above
DOR,

4.

Question Number : 67 Question Id : 2307491880 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The equivalent Fahrenheit temperature value of -10°C is

-10°C 8 DHRDBDD PSS Ene5 HABES DD

Options:

10°F
1.

14°F

z



Question Number : 68 Question Id : 2307491881 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

According to Stefan’s law, the emissive power of a black body 1s
proportional to

VPO DADIVO DSO0 i) BN BLRO .%aafmg O 5
OHOSSERH0 PBSoSd Sotood
Options:

absolute temperature
HEE> SAKTS

Square of absolute temperature

DO BEIEES HCO
g q:;‘“" =

Cube of absolute temperature
Sleloe] éaqg‘ge‘_‘é 000D

Fourth power of absolute temperature
Slatob) éaéggé -dﬁéjﬂmbﬁbé
4. ‘

Question Number : 69 Question Id : 2307491882 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

SQUID 1s used to measure
PoHe08 SQUID &5355:05080.

Options:

Strong magnetic flux

OB WAV, 0SB ©PTO
8



Weak magnetic flux

DOIRD GBI, 0B ©LIETOTO
2.

Strong electric flux
DOTOD BDEQBY GPPETRTO

i

Weak electric flux
DR DB @0

Question Number : 70 Question Id : 2307491883 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The following is not a central force

D50DD SoHISH OB 0.

Options:

Coulomb force
SJee008) 220800

Gravitational force

" r’iat:baunﬁétﬁqea 20080

Frictional force
a’weﬁqm 200
=,

Magnetic force

e::ct‘i::.%a&oé 2O&D
4.
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Correct Marks: 1 WrongMarks: 0



An 1ron core solenoid is wound with 20 turns/cm and carrying a current
of 0.1A. The values of H and B inside the solenoid are :

25 DO 86 ABSTA506@IE 20.80. Bo 20 wie <Pa® woledde
00a500.1A. D087 DB, VBT S%de H sodasn B e denden

Options:

200 A/mand 2.514 x 10°4T
200 A/m sococdsn 2.514x 10°4T

200 A/mand 2.514T
200 A/ soocsxn 2.514T

200 A/m and 25.14 x 10°T
200 A/m Soocso 25.14x 10°T

400 A/m and 2.514T
400 A/m SHoocsn 2.514T

Question Number : 72 Question Id : 2307491885 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

When a#b#c and a# 3%y #90° the crystal structure 1s
azb#c soodsn a#f77%90° eansd DB O,eaE0.

Options:

Cubic
; PITOSS

Tetragonal
, PSane
Trichinic

85 =25

3



Hexagonal

SRl
4.

Question Number : 73 Question Id : 2307491886 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Alpha rays emitted from a radioactive substance consists of
S&B? Y, 5 Hego oW erpos Alpha 8dmen B8 Hosoo.

Options:
uncharged particles
@330 SO Semen

doubly 1onized Helium atoms
850506 OCODE, EHI00 e@e05)en
2.
negatively charged particles
200ET0B,5 IBS SeFPO0
=,

all of the above
e ley
Y E EB‘

Question Number : 74 Question Id : 2307491887 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

A thin spherical shell of radius (a) has a charge of +Q evenly
distributed over its surface. The electric field outside (r > a) the shell 1s E =

a GO o HeIEO HFepsd 8580 eH0800 D wado + Q dore
DBB DAVDEDHD. SGB0 b (I > a) BFE) B8 deod E =

Options:

Q

& o e




Amrer”

A

bl
i

Fl

im

Q

2
Ter
4.

Question Number : 75 Question Id : 2307491888 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

When a substance undergoes a process its volume remains constant.
The process 1s

Eiumgo D 28 HEA0 BOHH;B0 D PODDOBIEIO %fﬁc{'ﬁ ©Oo5E0. &8 H8SH

Options:
Isochoric process
DVESPOE HEa

1.

Isobaric process
HEBEROE DO

z

Adiabatic process
odctert3E H8cs

=,
Isothermal process
D0 BASES HBO
4.
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Nucle1 having same number of neutrons are known as

&8 Hogy, o BRLPD) SOHD SoLseerd 0? Be0DOBI0LRED

Options:

Isomers

55(‘:5!5&’:']9&1}
1

Isobars
a0 gPOE DOHIEND)0

Isotones
DRSS

Isotopes

. o8ES® Hen

Question Number : 77 Question Id : 2307491890 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The main source of sun’s energy 1s due to

r".’fmd%ﬁ:) 35 & 85008, 288 OB0
Options:

Nuclear fusion
gogs Hobdo

Nuclear fission

2 Sogs Y8

Combustion

B508)0wm
3. -



Gravitational interaction

. (OB S, 2 @5_%@ G,

Question Number : 78 Question Id : 2307491891 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The value of Hall coefficient of P-type semiconductor is
P- 58560 e@garses 58S (hnso Heosd

Options:
1
Ry=-—
ne
1.
Ry =ne
1
RH g —
ite
=1

, Ra= (ne)’

Question Number : 79 Question Id : 2307491892 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

The commutation relation of [Ly, Ly | 1s
[Ly. L | 208, 528500,83:08 0200550
Options:

~ill,

1.

—ihL.

2

ihil_

o



ihL

rl.l

Question Number : 80 Question Id : 2307491893 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The speed at which stars and galaxies are moving away from us 1s
determined by the phenomena of

D5pEeen SO BeRgen Hod HHoY BRSO SODHD, HED
mgmé &yBgas00

Options:

Blue shift

e DAPDHDO
1 = ¢

Yellow shift
2D magaséc
2.

Red shift
DB0)) DAPDDO
=, P

Orange shift

;O 0a3 E)a?ba’ia"m
4

Question Number : 81 Question Id : 2307491894 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The magnetic moment due to electron spin 1s equal to

DO D P00 HoD SOHED @O, 08 RS0 HDE DHTDHO

Options:
2 x Bohr Magneton
2 X &5%6 B0emS

1.



One Magneton

205 BHIPEPD
X £
%}; Bohr Magneton
L x 5% s75emS
2
=

None of the above

D8 S0

Question Number : 82 Question Id : 2307491895 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The chromatic aberration 1s due to

BG DHPHO OO SO BSODEO

Options:

diftraction
DBBHO

Interference
a’%&éfﬁmo

refractive index
585D oo

polarization
&0
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Correct Marks: 1 WrongMarks: 0



The compton shift in the case of X-rays 1s
X- Etee Sod 5OHD TR0 &&}35’5&50

Options:

Al—A= .3 (1—Cos8)
m.c

A -g= L{1 —Cos8)

m,c
A' — A = hm ,c(1 — CosB)

m,

gl Pl et

h

Question Number : 84 Question Id : 2307491897 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

When the centers of mass of the colliding bodies are not 1nitially moving
along the line of impact. The impact 1s called

OPHRB0 BDOLD BNHO FHHT28 ToTpe0 HVOLITP ©PHIRS0 CPS®
Se52;050. & ©PHPRTR
Options:

Direct impact
DEE ©PPIPS0
1.

Oblique 1mpact
BG,589 PIS0

both 1 and 2
1 80950 2



None of the above

2O 2D
2

Question Number : 85 Question Id : 2307491898 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
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Correct Marks: 1 WrongMarks: 0

The rate of precession of spinning top 1s inversely proportional to its

88, FHow S0HE0 DBRBLED e RO 8 DSTHRHTOPB0S® dotood
Options:

Mass

SD.0B

Angular velocity
B D50

Angular momentum
SSBcto B5HB50

All
DD,

- .

Question Number : 86 Question Id : 2307491899 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

A particle of mass (m) 1s moving with 90% of velocity of light.
Its relativistic mass 1s

55,008 (1) SOHD Seeo 90% Teod Bi50S® DAPHBODD
R DG, BB,

Options:
iy

0.4359



m = 0.4359m,

2
0.4359

i,

m=

Question Number : 87 Question Id : 2307491900 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Identify the Maxwell’s fourth thermodynamic relation

SREIS TYD BYHBES HODOFHHNIO HROTOED.

Options:

ol

1

_oP
8S

v

_@P
&1

T

oT| ov
6P|, &s
A

os|
oP |, or|,
Question Number : 88 Question Id : 2307491901 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

cs

9

¥

E

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



v,.v, are group velocity, phase velocity respectively and ‘k’ 1s

propagation constant. The relation between them 1s

SHOORBOT®  U,.U, DEOTERE BIDHW0, BWeIH0 HOOBW

‘K’ Hapes boeoso. & S085. (50 oot D

Options:
cu
LJE :Up —i—fr = £
ck
s
; cu,
U =0 —k—
¥ " ck
.
cu
v, =v,k—
S
3
=
_, oy,
U.E + LJp e .f?t =
E-‘.l?t'
4,

Question Number : 89 Question Id : 2307491902 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0

The Barkhausen condition for sustained oscillations 1s
DFo (sustained) SPemrosH e25,5500 DDOLHD

Options:

AB>1..26=90°
AB<1,26=0

AB=>1./,0=0°
=



AB=0

4.

Question Number : 90 Question Id : 2307491903 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The following particle has zero spin.

DO SePDSE v, 00 S,
Options:

Photon
PO

L = 111E5011
LL- Bodeo

T - meson
= DOAPDO

Nucleon
é:%gcﬂ:ﬁ

Question Number : 91 Question Id : 2307491904 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The frequency of stretched string of length (/) 1m1s 256 Hz.
The frequency of a string of half the length I ) under identical conditions is

\ S

28 S0t (180) &6 (/) 5OBD BoBO Fees OB DD: 2YegH0

256 Hz. 585 &0 &JCISQ‘:‘:."}J‘GE}E%@ DB TRED) | E 00 SoBID: 200

J

Options:

312 Hz

1.



612 Hz

23
256 Hz

3
128 Hz

4,

Question Number : 92 Question Id : 2307491905 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
s . _ . -
It 1s impossible to convert heat entirely mto work™ 1s a statement of
© BRHD JPYR DOTR SPRROSSO WOLDE @RGS0 T 58 HBSEHD

Options:

224 Jaw of thermodynamics

é@ﬁ&é oY, So&Gs DA
1

37 law of thermodynamics
BYPOBE DY DORED HASOHBODD

!
Zeroth law of thermodynamics
BQOBE PP oAy DAL
=,

1* law of thermodynamics

é:a&;{aﬁ&é R, 2058 HAHYEHBD
4,

Question Number : 93 Question Id : 2307491906 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
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Correct Marks: 1 Wrong Marks: O

P-type semiconductor 1s obtained on doping intrinsic semiconductor by
S8 HodDDHDDHO -3_%#) 58T e::iq:g apaeso P- 850 ©F RSP SISO

Options:



Antimony

A5 BD0D
1.

Boron
, &S%oest0

Phosphor
P35

Arsenic

, o308

Question Number : 94 Question Id : 2307491907 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Electromagnetic radiation obey’s

DEHE) AR, 08 DETEIEWD aRE o300

Options:

B_E. Statistics

B.E. 3roam s =%
1. E% ‘ﬂ’@‘:’

M.B. Statistics
M.B. &rogns =80

2.

F.D Statistics

F.D ROFRE YO
3

All of the above

08
4."_43
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If the half life of radium 1s 1600 years. Its average life 1s

38500 E}g 2258 o0 1600 aﬁoa‘)%mel:r 0D O DTDO 2208 P
Options:
1309 years

1309 Ho.oeen

2309 years
, 2309 0.0

3309 years
3309 WOo.0eeD

4309 years
4309 Do.oeen

Question Number : 96 Question Id : 2307491909 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The following 1s used to identify the crystal structure
QS DO? 3R, (DYOTHPDE DINDD BDADIANTDEIED.

Options:

Polarization of light
508 0

diffraction of light

’ =208 Ea‘eﬁg DO

diffraction of X-rays

X-8Cemo BHGHO
=



All
; @gcﬂ:n

Question Number : 97 Question Id : 2307491910 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

The ratio of electric field (E) to the magnetic field m free space gives
omsedo &F DB SBHOE SRR, 08 EE08 Ko OB cIYHO

Options:

Velocity of light
R0 DO

Product of permeability and permuttivity in the free space.
O B0S5% HI, B0 HOBL HOBHB ©gE50

Permuttivity
50,8508

Permeability
D3E Bod

4.

Question Number : 98 Question Id : 2307491911 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Eigen values of Hermitian operator are
RS, 2DoH0 HDOBS se6s0 Eigen ®eosen

Options:
Zero

1 rﬁar:g

Imagmary
SRS SH0
z.



real

IR
— D
>,
real or imagiary
DO B BERS,50
4. —

Question Number : 99 Question Id : 2307491912 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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Correct Marks: 1 WrongMarks: 0

A super conductor exhibits
OB FRPEDD DO, 0TOTO

Options:

Diamagnetism

feJovy @cﬂaa%oée‘_ﬁﬂﬁo
1

Parama gnetism
& O E:cxﬁaae&cééﬂﬁa

2.

Ferro magnetism
" PO DR, 058,0

Ferr1 magnetism

DO OCHOP, 05850
4. = e o

Question Number : 100 Question Id : 2307491913 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

If the lattice constant of Aluminum is 4.049 A . The mterplanar spacing of
(220) planes 1s

©ORDOOAN0 BOE %méo 4.049 A . ©000 (220) @088 Hos8oee DBI0

Options:

1432 A



2
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=
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Question Number : 101 Question Id : 2307491914 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

If the uncertainities in velocity of two particles A and B with mass 1 x 10~
and 1 x 107* kg respectively are same, the ratio of uncertamities in the
positions of A and B 1s

1 x 107 Sooasn 1x 1073 kg @ geto teo A s00a50 B Sewe Dc5068
ODBBBH0 DORDD0S, A 00030 B Beeer JpHod® ed 8BS0

e P
DB oSBT

Options:

, 1:1000

1000: 1

Sub-Section Number:
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23074966
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50
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1
23074979
Yes
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Question Number : 102 Question 1d : 2307491915 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

The radial probability distribution curve obtained for an orbital wave function
(w) has three peaks and two raidal nodes. The valence electron of which one of
the following metals does this v corresponds fo :

25 eQbRd SB00 BIA30 (y) BBCHE Sogpsmse DBLD 5B, OS50
BPOoD HOASH B0 BBADNS FPhen Bo5). Bow RDpED O S%PHwn GBS,
DOl Do & B B8 eQbrRS y DOOEHTOT

Options:

1. Na

o L1

2 O

Cu

Question Number : 103 Question 1d : 2307491916 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

The electronic configurations of elements L, M, Q, R are given below. The
formulae of 1onic compounds that could be formed between them are :

Hovooseen L, M. Q. R © 00520 dadoaeen 8065 ®a;0w@eomn. aod $06),
DY 80 eadIDE DEITRO OO0 !

L = [He]2s%2pt
M = [Ne]3s!
Q = [Ne]3s%3p’
R = [Ne]3s?



Options:

1ZHMJH“MQJHQ

ML. RL, MQ. RQ
LMz RL. MQ. RQ>

LM. RaL. M2Q. RQ

Question Number : 104 Question Id : 2307491917 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

The electronic configuration of an element in its +2 oxidation state is
[Ne]3s?3p° . To which group (G) and period (P) does the element belongs to:

+2 e85t ROSE & HorOS) DOT, O DDYHE0 [Ne] 3s23p°.
B8 H00ee5H0 O (Wew) (G) H0oasn & boaé (P) s doodar?

Options:
G=13.:P=4
G=2: P—=4

2
G=2 :P=3

3
G=13,.P=3

4.

Question Number : 105 Question Id : 2307491918 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The correct order of bond angles of ClF3 , BClz , NHz , NF3 1s :
ClF; . BCls .NH; . NF; & 0&H SB¢goe) ﬁﬂ}@?ﬁ gﬁﬁ)a‘h) :

Options:
ClF3 > BCl3 > NH3 > NF3



5 BCls = NF3 = NH3 = CIF3

ClF; = NH3z = NF3; > BCl;
=3

BCl; = NH3 > NF3 > ClF;3

Question Number : 106 Question Id : 2307491919 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which of the following 1s a mdo-carborane?
800 BS? DE -P3S HOP
Options:
BsCHoago

B->C>Hs

B4C-Hg

B.CH;

4.

Question Number : 107 Question Id : 2307491920 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

The Oxvacid of Phosphorous with one P — P bond 1s

&5 P—P @ogo e gedom @% 800 HOT
Options:

i (I_IPOJ-Ju

H4P-05
2.

H4P>0g
3

H4P2O7



Question Number : 108 Question Id : 2307491921 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The colored 1on pair n aqueous medium 1s

@Be) AdPH506? Soth B eacdhien B0t HOTr
Options:

St Zn®T

"y A
cu?t Tit

2,

Tt e
2,

cd*, Mn**
4,

Question Number : 109 Question Id : 2307491922 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following pairs are correctly matched?
B8 508 © BOLED DOTR BBBEIEBODT

Oxide( &8 &) Property ($8,0)
A. CO neutral (éé:ﬁg)
B. N20 acidic  (esa)
C. PbO amphoteric (swse05)
D. ThO; basic (get)
Options:
ACD
A C.B

2.



B.D

A .B.C

Question Number : 110 Question Id : 2307491923 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Identify the correct orders regarding the relative stability of oxidation states.

@%Etﬁaa Fge‘_ﬂ:re:' oD, %éééc: DBOTR HOAD Baseeald (OO0,

8 1 gl il (I) Mn®™ >Mn®>™  (II) Fe¥™ > Fe?*

Options:
LAl
1.

o IE T

LILINI

LIII
4.

Question Number : 111 Question 1d : 2307491924 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

The correct order of basic strength of Lu(OH): . Gd(OH); and Ce(OH)s 1s
Lu(OH); ., GdA(OH); &ooasn Ce(OH); o FPODR0G ; DO B0 HOP
Options:

Ce(OH)3 > Lu(OH)3 > Gd(OH)s

Lu(OH); > Gd(OH)s > Ce(OH)3
2.

_ Ce(OH)s > Gd(OH)3 > Lu(OH)3



Gd(OH)3 = Lu(OH)3; = Ce(OH)3
4

Question Number : 112 Question 1d : 2307491925 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Match the followmg
So& 8D BSHBOTIDN

List-1 List-I1
Mineral (gpoess500) Composition (&ogoedan)
1. Koalinite A. 7ZnCOs
5BRODES
II j‘-’IHlﬁClL‘LtE B 4&12032510321{20
Eﬁ)ﬂﬁ)géﬁ
III. Siderite C. CuFeS>
&0
v. Calanune D. CuCOs. Cu(OH)»
EaE)E;‘.l_}r‘E_)
E. FeCOs3
The correct answer 1s
DOBD DTGB
Options:
1 1I 11 IV
1 B D E A
I II II1 IV
B D A C
o)
I I 11 IV
D C B A
2,
I II IIT IV
C D B E



Question Number : 113 Question Id : 2307491926 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The reaction that takes place at cathode in the electrolysis of alumina
using cryolite 1s

SRS HODBRHOW ORI DFUE DFH SOO% PG D BOND B,

Options:

12F —— 6F, + 12¢

| 6F,+ 2A1,0; ——— 4AIF;+30,

4H,0 +4¢ > 2H, +40H

3

AT 4 138 —————s 4 A ]
4

Question Number : 114 Question 1d : 2307491927 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: O

The magnetic moment (in BM) of (A) [MnCL]" (B) [Fe(CN),]* and
(C) [CocC)),]" follow the order

(A) [MnCL, ]~ (B) [Fe(CN),]* a0®a50 (C) [CoCl),]” © e9a50dm, 0 graoseen
(BM @68) pfocd 5200 :

Options:
A=>C=>8B



Question Number : 115 Question Id : 2307491928 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
If the crystal field stabilization energy of octahedral [CoCl1, 1" is 18000cm’, the
crystal field stabilization energy (in ecm™) for tetrahedral [CoCl,] will be
espaR@ed [CoCl]" Bws, HBS g8 1ot 88 18000cm™
@008 BeparEd [CoCly]” Bws, KBS g8 LOste 8 (o' 06f ) :

Options:

) 18000

» 23400

9000

8000

Question Number : 116 Question Id : 2307491929 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Identify the complex with highest EAN value
o305 EAN Densd o Hoa5pR), (090t

Options:
) [Ni(NH; ) I
X [Cu(CN)T

[Fe(CN,)I”
4 [Co(NH, ), I

Question Number : 117 Question Id : 2307491930 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



What 1s © v’ in the following reaction sequence?

B0 D00 SEESS Y HOP

1. Oxidation

B2Hs 85060
[sobutene — X :‘-
H,0,/0H i. NH,Cl/ KCN
H,O

¥

Options:

Alanine

DOHO

Valine

DOD

Leucine

oS

Glycine
ety

Question Number : 118 Question 1d : 2307491931 Question Type: MCQ Option Shuffling: No Display Question Number :
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

The correct electron releasing capacity order of following groups
when present on benzene is
8o HEuRDsen Bosd S5 SHDE DB DO SO DB T

WERBO BOAD B0

(H3C)CH - H3C - CH3CH>CH3? - (H3C)sC -
I II II1 IAY

Options:
N=>=1=0I=1V

, I>M>I>IV



; IV>I>II>1I

g ANEIE=E=N

Question Number : 119 Question 1d : 2307491932 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: O

Identify the correct set from the following

800 S JHOBOD HHOAD (OO

Options:
D — and Meso-Tartaric acid Diastereomers
D o050 £oaseroeds esno BASPHBB0BE0
1,
D —and L. — Alanine Metamers
D - s00a5» L 0o0dd aredIos06e1
2.
Syn and anti ethane Homomers
RS HoOATD WOB TIPS ¥ B8
=,
L — and Meso — Tartaric acid Enantiomers
L sooasn S8 ép 05 a0 mﬁ}ﬂcﬁ}‘c\a’nﬁm
4

Question Number : 120 Question Id : 2307491933 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

What are X and v in the following reaction sequence?
800 HBoW WHE® X Hooasn Y en HDP

i. NaNH, Na /NH. (lia) &5
CH,C=CH v g MR B
ii. CH,—Br !

Options:



X Y
chCH.C=0h '(:3143(;‘-1{2CH=CH3
1.
X ]
CH,CH,C=CH CH,CH,CH,CH,
2.
X b4
CH, CH,
i b e
CH,C = CCH,
- - “n
i H
=
X Y
H.C I
CH,C = CCIH, . T
H CH
4.

Question Number : 121 Question Id : 2307491934 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

n-Pentane can be prepared preferably from which of the following reactions/s?
800 & <55 / © wogoe 11-D08DH0 Dperd,0mP SaST D BCDRP

Wurtz Corey - House Kolbe Wurtz — Fittig
&8, 896)-598 853 &b, - DO
I II III IV

Options:
LI



n.'-’

LIIL IIT

Question Number : 122 Question Id ;: 2307491935 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which of the following reactions 1s not feasible?
808 WE,0S° HO JoRD0 TPEOT

Options:
1 0
CH.CI R
e
AlCI,
. Cl
1.
OH
{)l{ BI": r'EHIO'\ Br Br
Br
2.
NHOH
@“ Zn/NH,Cl
=
: T
@ AlCl,
4,

Question Number : 123 Question Id : 2307491936 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Arrange the following in decreasing order of aromaticity

800 BD DEPHIBE H55PH0 BC B00H esoiol

Anthracene Benzene Napthalene
SOHDO B0 DD
I II I11
Options:
I=II>1I
I=11>1II
5
N=010I>1
3
4 I=1=1III

Question Number : 124 Question Id ;: 2307491937 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The major product from the following reaction 1s

808 WS0.6°% HEA HHeDd GBSV

CH,
, H,SO,
CH, 2>V
£\
OH

Options:



(X

CH,

CH

>3

2

C

(X

c

4

H
S|

H,
I 2

C
C
H

3
CH
4,

Question Number : 125 Question Id ;: 2307491938 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

£
-

2

>

What are A and B m the following reaction sequence
80& Ht0H wY, @H% A Hooasn B en HoP

A
e S S g

Options:



Br
HBr @/ . Na / drvether

aels B53pHpb
1
A B
©
HBr . AlCI3
2
A B
Er
HBr/ ROOR @/ Na/ dry ether
ayela 830
=3
A B
HBr/ROOR @ AICI3
4,

Question Number : 126 Question Id : 2307491939 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following reactions converts benzaldehyde to cinnamic acid?

8080 & w50, w00 Bomdir&io HHIE eoTR HBIPHHTT

Options:
Riemer - Tiemann

| 806 - B0



Perkin

, DO
Mannich
500 Dw
3 =
Kolbe

&g

Question Number : 127 Question Id ;: 2307491940 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

An Organic compound A (CgH;N) 1s converted to B by the reagents X and Y.
B when reacted with NaOH / 1> formed CHI;. What are X and Y?

X Sooasn Y setseen s 58 dangoo A (CsH;N) o B oe sioeoeom.
B @ NaOH/I, &8 fﬁiéﬁ atone CHI; &0 ﬁgﬁﬂcﬂl X soocsn Y eo H7

Options:
X Y
NaNQOz / HC1/ 0-5°C : CuCN CH3MgBr/ H3O™
1.
X i
NaNQz / HC1/ 0-5°C : KCN LiAlH4
2
X Y
; NaNO; / HC1/ 0-5°C : CuCN DIBAL - H
X X
) CHCI; / NaOH CHsMgBr / H3O™

Question Number : 128 Question Id : 2307491941 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0

A nitro compound A (C3H;NO;) on Nef reaction gave B which did not
reduce ammonical silver nifrate reagent. B on reaction with NaOH formed C.
What are A and C?

&8 D838HagHo A(CHNO,) 35 w5,6°% Bdo kQod. B edndsd
Roe)6 DEIRS SeoeseR) HABL0 Wadan. B @ NaOH & w5y, avdoe
C &0 HEEwon. ADooasn Ceo HD?

Options:
A 12
NO,
pS PN
1.
A C
NO, OH
A\ /]\
2
A C‘

A €

NO, \f\[i i
i s
H

ND] \/VT
— -

Question Number : 129 Question Id ;: 2307491942 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0

D-Glucose and D-Fructose give same product / s with which of the
following reagents?

8ot & tmeed® D - i858 Sooasn D - HFEen a8 e8Ho / eo d adeon?

Br / H20 HNO3 PhNHNH? (Excess) HCN dil OH
(@5) DED
I 1I 11 IV Vv
Options:
III. IV
> . VvV
- I, I
" L3k

Question Number : 130 Question Id : 2307491943 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

What are X and Y in the following reactions?

So T:SQSE)ES"&" X 500d50 Y eo 5527

Y X
N{—/\H/—w/\c’]:

Options:
X b4
Li1AlH, Zn /Hg/HCI
1.
X %
Zn /Hg/ HCI NaBH4



X X

NH>NH> / KOH LiAlH,
3.
X Y
NaBH, H, / Ni
4.

Question Number : 131 Question Id : 2307491944 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Match the following
8080 §0HD s8DOWOB

Reactant (8as»a:550) Reagent (sp650)
CONH,

L. A. CHCl3/KOH
NH,

IT. @/ B. NaOH / H>SOq4

CO0OH

1L C. NaOH/Bn

D. NsH/H". O

Correct answer 1s
DO WATEPDO

Options:



I II II1

D C A
1

I 1I 111

A B C
5.

| I1 11

i B D
2.

I I1 11

¢ A D
4,

Question Number : 132 Question Id : 2307491945 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Identify the correct statement from the following

808 TES® HOWBOD DDBEsD (OO0

Options:
Pyrrole 1s mt deficient molecule

1 DS 85 T B8 ea0a)

Resonance hybrid of pyridine has partial positive charge on nifrogen.
DHOBS BEPIY TP’ PEPAS P PJS HPTPDIO BOLVOD

Pyrrole 1s a weak acid
DS &t DePH 3500

n electrons of nitrogen in pyridine participate in resonance stabilization.
DOGBDO S5 PEPAO N woF2 O B0 OE°DY Btgéétﬁfa &% DpdhB0oémonn.

Question Number : 133 Question Id : 2307491946 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



The mversion temperatures of two gases X. Y are 267k and 337k
respectively. At 298K, both gases were allowed to adiabatic expansion.
Which one of the following statements is correct?

oo apasnden X.Y o D&% eafisen HStoodme 267 k &ooasw 337 k

B8 woddna)ean 298 K Eﬁtéi %&E@é a0.8550 PDOER.
808 DDOBOS? HOBODD DHOT

Options:

The temperature of both gases increases
B0&8) TSN 858 DB

1
The temperature of both gases decreases.
So&ad aPddld 85 &5¢ 000
X D GBS S
The temperature of X mcreases and the temperature of Y decreases.
X &a808 dtorod Sooain Y SIS e
The temperature of X decreases and the temperature of Y mcreases.
X &380555 St So0asn YR8 BotHio
4

Question Number : 134 Question Id ;: 2307491947 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Identify the correct statements from the following.

808 o8&’ HOID DD (DYOTIOs

I. In LCDs, light passes through nematic liquid crystals when no electric current 1s passed.

LCD o5 DEB 5000 HDIPOTTD)E) S0 DDPHE D JPzee (Lo B8RO0

II. Cholesteric liquid crystals have some characters of smectic and some characters of nematics:
SBPO5 o YBsos SR 1,85 ( smectic) Hmen SHoasn & OavBE ( Nemafic) gue,eo 588 0P

III. The order of phase changes involved in the conversion of a solid showing mesomorphic behavior is

E0IB5POE egtwen o &Déa’jmgo 0D BDLO,0T0 @zﬁa‘g 7000 553000 !

Solid = Vapour =—— Liquid Crystal == Liquid

($0) (o)  (@®gds0)  ( @H0)

Options:



L

” ILIII

i LII

i IT. I1T

Question Number : 135 Question 1d : 2307491948 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Which one of the following crystal systems does not possess (1) plane of
symmetry and (11) C, (n > 2)?

8o & HBS %a‘i%é‘ﬁ (1) Agsd Sex0 ( plane of symmetry)
S00asn (1) Cy (n = 2) en Goss)?P

Options:
Cubic
oS0

Orthorhombic

DD0ERE,
.

Monoclinic

E}éﬁ)@ﬁé
3.

Triclinie
5w,

Question Number : 136 Question Id : 2307491949 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



The osmatic pressure of 1% (o / v) of urea solution 1s 4.1 atm. What will be
the osmatic pressure (in atm) of 2% (o / v) glucose solution?

1% (0 / v) aS500e005Te TPORE) Haeedoles Ssds00 4.1 atm 2% (o/v)
530888 GodEaw) Wareotns B ( atm ©&%) wos?

Options:

2,73
1.

Question Number : 137 Question Id : 2307491950 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

The solution of 5.7% (w /w) benzoic acid in benzene, freezes at 3.1°C. What
1s the percentage of degree of association (o) of benzoic acid i this solution?
(freezing point of pure benzene is 5.5°C and its K¢is 5.12 K kg mol™?)

oD &% 5.7% (W /w) e3oé%onb esgo He g 3.1°C 55 Hodgiddo
WOV, B8 GREeS® 308E%086 800 HEPWVOB DY BPBB0S T
(BoS 5oegssd oo 5.5°C wovasw @ K 5.12 K kg mol?)

Options:
46

1.

o 60
-'.' >

3 .ﬁ.j
52

4.

Question Number : 138 Question Id : 2307491951 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



500ml of gold sol 1s mixed with 50mL of 10% NaCl solution. What 1s the
weight in mg of dextrin (protective colloid) to be added to above sol to
prevent coagulation? (Gold number of dextrin 1s 20)

500 m L o &&66 0 50 mL o 10% NaCl geidend 583000,
BB DO a0 1) OB FHEIOG 0EERDE B0 GBS © (HOU5SE

Sepont ) gpdo MZ 6% os7T (B O ABs, &S Hozy, 20)

Options:

2
1. 20

, 1000

5 500

4 10000

Question Number : 139 Question Id : 2307491952 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



For a gas obeying Henry’s law. the following graph is obtamed. (a = x
" 5 P :
(mole fraction of gas): »A=-2 (P» = pressure of gas m torr over the
X

solution)). The Henry’s constant of gas in torr is :

D DASTEIR, 0T deASN)B FOO PP HOODOD.
P— (P, = gro00p aecso bEbdo torr ©68 )

X5

o0 3R %m@é&ﬁ:@ torr edé®

(a=x; eS0T £30050); b=

A b
8x 10 |—
7x10° —
6x 10k -
0 01 02 03
Options:
;0
i
, 6x10
- 7
7 5
5 x 10
7.25x 10’
4

Question Number : 140 Question Id : 2307491953 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



For an 1sothermal expansion of an ideal gas. which one of the following 1s correct?

28 ey, TASNY) HaY 80 BoOS Bod aBEE HO HOBIDBO?

Options:

AU=0: AH# 0

AU 6; AHF 0

AU=0; AH=0
AUu# 0:AH=0

Question Number : 141 Question Id : 2307491954 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

When liquid X, which 1s imnuscible with water. 1s steam distilled. it gave
400ml of distillate. In this distillate. the volume of X is 110mL. At the
boiling point (T (K)), the vapour pressure of distillate and water 1s 760 and
710 torr respectively. What is the molar mass of X in g mol?? (densities of
X and water are 1.8 and 1.0 gmL! respectively)

HBEP BHLID B350 X D BegRE) VD0 PRHOWMH@ 400mL o
VS BHO OPODOD. B8 st Bo & X oddwseeso 110 mL.
gpaessd (T(K)). Red0 B RS 550 HoOAD HB ey Disawen SeoH

760 0050 710 torr. X Aoeend grto Z mol? @68 mos?
( X S00asn HB dorsen Hoore 1.8 dooaso 1.0 gmL?)

Options:

;1745

261.75

349



174.5

Question Number : 142 Question Id ;: 2307491955 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

What 1s the approximate change in entropy (A S ) when one mole of an ideal

gas 1s heated from 300k to 600k at constant volume? C, of this gas 1s %R (log 2 =10.3)

28 s Y, ardASNR)D R@)d FOD DODIEIO DL 300k to 600k 5650 &R0

50D @O BBy (AS ) BT ©OSP B8 aRasVHEO CyDevs ~ R (log2=0.3)

Options:
&

0 10
R

Z.

2 10R
A
100

4.

Question Number : 143 Question 1d : 2307491956 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: O
Which one of the following correctly represents the graph of rate of
reaction (b) versus concentration of reactant (a) at T(K) for a first order

reaction (A — products)?

T(K) ¢, @068 55005 (A — 8asmamaen) w395, 58,00 (b)
HoDOAN BASRBHE) PESe (a) Do, HRHD HODD PO HOP

Options:



i |

h

1.
b
A
OO |
2
h
i
> i
=
b
A
T
i
4,
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For the reaction nA — products, at T(K) the half life (t,5) of the reaction
with initial concentration of A as a; and az 15 (fos)1 and (tos)2 respectively.
The order of the reaction (n) 1s :

nA — SoSomanen, ©58,50 T(K) D&, A &9 terGSen aE0daso as €000RE 80
T_'Slés @Cg(ﬁl]@(t{}j} DB0RDP (Tg_s)l a0dAd0 (10_5)2 r'ﬁi_ﬁrﬁ‘%ﬁﬁjﬁoﬁaﬁlj (11) SHOT.

Options:
— In(7, ), / In(z,5),
In(a, / a,)
1
_— In(z, ), f]}ll(rﬁ_s)2
5 In(a, / a,)
e [In(a, / ﬂl)]2
. In(7,5), / In(7, 5),
= [In(a, / '-"5'1)}2
In(#,.),/In(z,),
4,
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At 25°C, the specific conductance of 0.01M HA is 0.016 S m™. The molar
conductance of HA at infinite dilution is 400 x 10 S m? mol!. What 1s the
approximate K, of HA?

25°C =5¢5, 0.01M HA Gdoos, dagamsess 0.016 S ! emos oo 55
HA &Boos, dmwend apsess 400 x 10* S m? mol'. HA Bws, K,
DTN O

Options:



1.6x% 107

1.
1.6x 10
1.6x 107
=,
16x10°
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At 25°C. the Ecen of SCE |H™ (pH="7?). Q. QH,, Pt is 0.4 V. What is the pH of solution?

RT
{EQH}Q =0TV, By =024V T: 0.06)

25°C 5t SCE || H (pH=?), Q, QH>, Pt B8, Eci ®enis 04 V. gpoeod pH wos?

RT

(Equ,q=0-7V: Egez=0.24V: ——=0.06)

QH,ig

Options:

, 24

1.9

2.
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The correct equation for quantum yield (¢) 1s : (A = Number of molecules
that react; B = number of moles that react: C = number of quanta of
radiation absorbed; D = number of Einsteins of radiation absorbed)

Z2,080 o8 () & HODD BHBGL HO?
(A =55,P00d exa)e Hogy, . B =w50,P00d 35d o Hosy; -
C = 8%0chsom, DEVHR) S2;08P © HOFY, :
D = S50t D80 © P 5o Homy, )
Options:
i

. D
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The rotational constant (B) of a diatomic molecule is 2 cm?. What is the
energy (in cm™) of the rotational state with J = 4?

88 B;HOI0E0S ez gioe HoeosHw (B) 2enr'. J=4 6o g
2 &8 (cm’ 068 ) 008 P
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The n — n*electronic transition 1s observed m :

n—> 1 o0 DE HODYHDI0 BSOS DES ( observed) S esx)Eod?T

Options:

. CoHa

, HCHO
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The bond dissociation energy of C —C (x), C=C (y) and C = C (z) follows the
order z=y=x. The force constant (k) of x. v, z follows the order.

C-C (x),C=C (y) o050 C=C(2) © ©0§ DRSO 38 Dot B0
ZZYZX. @and X,y oasn Z o eefoosin (K) o gosn Har

Options:
1. X >yp>z
5 = - _1 e 4
Y X =
=,
XX 22



